
Chemistry 40S 
 

Formulas 
 

x = −b ± b2 − 4ac
2a

 

 

n = m
mR

 

 

C = n
V

 

 

n = #  of  particles
NA

 

 

n = V
mV  

 
ΔH = Hproducts − Hreactants  
 
Kw = H 3O

+⎡⎣ ⎤⎦ OH −⎡⎣ ⎤⎦  
 
pH = − log H 3O

+⎡⎣ ⎤⎦  
 

H 3O
+⎡⎣ ⎤⎦ = 10

− pH  
 
pOH = − log OH −⎡⎣ ⎤⎦  

 
OH −⎡⎣ ⎤⎦ = 10

− pOH  
 
pH + pOH = 14.00  
 

% ionization =
H 3O

+⎡⎣ ⎤⎦
HA[ ] ×100%  

 
Ka ⋅Kb = Kw  
 
Ecell
0 = Eox

0 + Ered
0  

 
Q = I ⋅ t  
 

n
e−
= I ⋅ t
96500

 

 
 
 
 
Constants 
 
Kw = 1.0 ×10

−14
 

 
NA = 6.02 ×10

23  


